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LREShDH LBEShS A LREShDH LREShDH
TEFO (BB E N TEFO (BB HA -
HIRMEORER || 000 mix 22 550 RITAROE® | 100N/ m?% 2 5 E 8L
ADKES| +H% |AOKES| 1A% |AOKES| +H% | AOKES| 8% ADOKRES| 0% |NWDOKES| +H% |AOKES| 8% |AOKES| 8%
DIBTRK| OEE |D3BHEK| OFE |[D3BHEK| 0oFs |D36HK| 05 DIHHREK| DEE |D3LHEK| OFE |[D3HK| OFE |[O3BHK| OFs
HED DLD DL0 DED DHL0 DEL0 DED DLD
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1 ~ 2 - - 63.1 1.0 - - 9.0 1.8 ~
2 ~ 3 - - - - - - - - ~
3 ~ 4 - - - - - - - - ~
4 ~ 5 - - - - - - - - ~
5 ~ 6 - - 70.0 1.0 - - 9.8 1.9 ~
6 ~ 7 ~
7 ~ 8 - - 73.2 1.0 - - 9.8 1.9 ~
8 ~ 9 ~
9 ~ 10 - - 99.3 1.0 - - 11.0 2.1 ~
10 ~ 11 ~
11 ~ 12 - - 99.3 1.0 - - 12.5 2.4 ~
12 ~ 13 - - 96.9 1.0 - - 12.5 2.4 ~
13 ~ 14 - - 96.9 1.0 - - 11.0 2.1 ~
14 ~ 15 ~
15 ~ 16 - - 87.9 1.0 - - 8.5 1.7 ~
16 ~ 17 - - 85.2 1.0 - - 8.1 1.6 ~
17 ~ 18 ~
18 ~ 19 - - 85.2 1.0 - - 8.7 1.7 ~
BRBERODERE SMER D FALE Rig&ES 111001-K008
X —3(3)
. &HRES EIRIE: -
& . _ e —
BEMOEEDRHICDELERICET SEE pp— — FEEBERA-TE
HERG=-TE




